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Ol &FXp== 0 20l &t

SIAHRE @ L=X0I2

® NS XEZ cHel i Q)

= & = X = A -
E = = HE = 5 = XNEAH HdECXENH s Z

E Al 231,997 233,412 Al 231,997 233,412 AN1,415
& =2 | & A & At & H 2,417 3,833 A 1,416
e =2 0 0 g gl 0 0 0
Xt = 0 0 2 g 0 0 0
E o' n-= e 7 0 0 I | 0 0 0
o & = =2 3 = 0 0 0
ol X 3 = 229,580 229,579 = 229,580 229,579 1
Oll o= = 0 0 = & & 0 0 0
0l At o= 2 2,417 3,833 3 o 0 0 0
J| Et = 0 0 Xl = 0 0 0
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SIATE = XII2
@ =& S
F-2-8-2 2= gl o ?EOEH = N, o
49 o
200 M2 =g 2,417 3,833 A1,416
210 &AM == 2,417 3,833 AN1,416
216 Ol At==¢ 2,417 3,833 21,416
216-01 300l A== 2,417 3,833 N1,416
700 BEE+LSLUHEAN 229,580 229,579 1
710 B2 S 229,580 229,579 1
714 Ol Xl = 3l = 229,580 229,579 1
714-01 OMIXI =2l 229,580 229,579 1
= g g A 231,997 233,412 21,415
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MWRES(AS =X ) 229,580 229,579 1
BEXNE(U=X2I3) 229,580 229,579 1
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